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25.Niagara Falls is a great tourist , drawing millions of visitors every year.

A) attention B) attraction C) appointment D) arrangement
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i5i%: [Niagara Falls =i&] [is Z] [ a great tourist attraction &iE] , [drawing millions of
visitors every year RKiE]

&3 tour n.JRST - tourist n.ikITE EEEN - tourist attraction H[J =S - tournament n.$2HRE

Hgi: If you were to examine the birth certificates of every soccer player in 2006's World Cup
tournament, you would most likely find a noteworthy quirk: elite soccer players are more likely to
have been born in the earlier months of the year than in the later months. If you then examined the
European national youth teams that feed the World Cup and professional ranks, you would find this
strange phenomenon to be even more pronounced.

¥ WNRE—T 2006 FHAMRERNEAESNEKEGHN R LI, (RIRERTESAN—D
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H#: No clear-cut distinction can be drawn between professional and amateurs in science:
exceptions can be found to any rule. Nevertheless, the word"amateur does carry a connotation
that person concerned is not fully integrated into the scientific community and, in particular, may
not share its values.
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Hgi: But although a search agent worked for Redmon, career experts see drawbacks.
Narrowing your criteria, for example, may work against you: “Every time you answer a question
you eliminate a possibility.” says one expert.
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REIZ— BN LAERE, REMERT —IRT/FrIgeMt .
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26.1 didn’ t to take a taxi but | had to as | was late.

A) assume B) suppose C) mean D) hope
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Hg&: The grand mediocrity of today-everyone being the same in survival and number of
offspring- means that natural selection has lost 80 % of its power in upper-middle-class India
compared to the tribe.

EX: S5ASAERKEE LNFEF—RAENMES AAANSEE, AEEFRIKEE—
H—XRWREMEELIEZIERL, ENERLERERERELEEKXRT 80%HNAE,
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EHiX: Yet these desperate measures have proved the right ones and, sadly for many journalists,
they can be pushed further.

r AMXEINE—BGEZERRN, ENFIEERREBHNE, loJgEsmiaE—Fx
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135C: method n.J53%

Hgh: To find their sites, archaeologists today rely heavily on systematic survey methods and a
variety of high-technology tools and techniques.

EX: ATHEEEGHR, RENEEERSEKBMAFZNBES EZURSHENERRBTARENRAN,




7% T




7% T

THANKS

THBE S




